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General Instructions :

(1) This question paper contains two parts — A and B.
(it)  Part A is compulsory for all.

(itt) Part B has two options - Analysis of Financial Statements and
Computerised Accounting.

(iv) Attempt only one option of Part B.

(v)  All parts of a question should be attempted at one place.

TUE &
(TR TATSAT, WSS WHT qUT HIU AT o 10 eame )
PART A

(Accounting for Not-for-Profit Organisations,
Partnership Firms and Companies)

1. 33 oot &1 3g@ i e stata amr=a: doit W= s e s = |
HYAT

S AT H SER W TRl S @ qun giEdqeia St @ W STaue
HIfT |

State the two situations under which interest on capital is generally

provided.
OR
Distinguish between Fixed Capital Account and Fluctuating Capital

Account on the basis of ‘Credit Balance’.
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HAYAT
FOAT < MG % I Iuerey |l o AW N |
What is meant by ‘Reserve Capital’ ?

OR

Name the sources that may be available for redemption of debentures.

Teh STAHR TS diF T foeor dum <t g, S0 @ U 1 991 =5
QA1 8 | 38 g0 9IR fopy I a1t @ 3= foflw faaron & am i |

AT

‘A qUT T GTAT IR HH o ATUR T 3gE HiT |

A not-for-profit organisation prepares three financial statements, one of
which is the Income and Expenditure Account. Name the other two
financial statements prepared by it.

OR

State the basis of preparing ‘Income and Expenditure Account’.

T HEeRl w1 % foeet % wHg aueh @ # wmmaia fafae o
& oI T 2,00,000 o1 | 37 fafag afewafw o 50% @ 9Eer ® 14 20%
& 9 W o o, A9 Tl & 40% i, AR 8 30% & A W S fe
T | WY BT 5% ATAAd T T JAT IEH FS I gl g | AW IR
%I Teh HGR 7 194 g o qui fuer § o fomm |

Iudard o IQ 3freeeres Usmmen gfafsear Hifsm |

At the time of dissolution of a partnership firm, the book value of sundry
assets transferred to Realisation Account was ¥ 2,00,000. 50% of these
sundry assets were taken by partner A at 20% discount, 40% of

remaining assets were sold at a profit of 30% on cost. 5% of the balance
was found obsolete and realised nothing. The remaining assets were
taken over by a creditor in full settlement of his claim.

Pass necessary journal entries for the above.

3 P.T.O.
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S, B and J were partners in a firm. T was admitted as a partner in the

partnership firm for %th share of profits. Calculate the sacrificing ratio of

S, B and J.

THh AR BH i IAied hl feufa # sifvifea qaar % wr@mhd i gfafse
Qfe |

Give the accounting entry for an unrecorded liability in case of
reconstitution of a partnership firm.

Tsh BH <h! TATNd 1 HeATohd [USc] 3 I6I o STHd H s 3 NI & 3T h T

T 2 | TUsd a9 ast & aw Fefaigg o -

Ty T (&)

2015 —16 : 4,00,000 (T 50,000 T Teh M &TH Ffferd)
2016 — 17 : 5,00,000 (¥ 1,00,000 =l T ITETHT BT % )
2017 -18 : 2,50,000

Tt Ufsr <kt o <hifST |

The goodwill of a firm is valued at 3 years’ purchase of the average profits
of last 3 years. The profits of the last three years were :

Year Profit (3)

2015-16 : 4,00,000 (including an abnormal gain of ¥ 50,000)

2016 — 17 : 5,00,000 (after charging an abnormal loss of ¥ 1,00,000)
2017-18 : 2,50,000

Calculate the amount of the goodwill.

67/5/2 4



ferfeiiigd g | 31 9T, 2018 <l HATW N % AU TS TICH #ddl o
AT T A WA o THT 9 H @Al hl AW arell =w¢ i TRT 6 T0MET
hITTT. |
EL:RE EL:RE
foeor | 3191, 2017 | 3199, 2018
< <
AW e 24,500 26,400
37eT =gl 14,600 23,700
Y H &9 7 T 2,45,000 1 Fa1 Ied foram EH T 14,000 31 A, 2017 H
THT Y % dfeHfed o | 3
From the following information, calculate the amount of subscription to
be credited in the Income and Expenditure Account of Good Luck Sports
Club for the year ending 315t March, 2018.
For the year ended | For the year ended
Particulars 315t March, 2017 315t March, 2018
< <
Advance

Subscription 24,500 26,400

Outstanding 14.600 93.700

Subscription ’ ’
During the year the club received ¥ 2,45,000 as subscription which
included ¥ 14,000 for the year ended 315 March, 2017.
‘SOl o YRR =1 Sl TN i % Afdiad Sfayfd Sifem §99 *
Topedl i o= SE9 T 3g@ HhIfTT | 3

AUAT

HIcUfeh (el I ITAN Hd gC HFoAl Afaf=m, 2013 i = 111 %
LI o ITTHR Teh hra-] & el foreamor § o791 Ieit guiisy | 3

State any three purposes other than ‘writing off the preliminary expenses
of the company’ for which Securities Premium Reserve can be utilised.

OR

Using imaginary figures, present the share capital of a company in its
Balance Sheet according to the provisions of Schedule III of the
Companies Act, 2013.

5 P.T.O.
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1319, 2011 % & fafies 7 T 100 I & T 9,00,000, 9% FUIAT HT 6%
& 93 W i R | 39 o o I 10% % W W REm o | 3
OO 31 O, 2018 I e o | Al AUEH, 2013 % @YUMl &
AR T 3 KOG & MG 7q AAwIh =IaH RUIF MeH oI H1 o
fepa e oo sned fesT w1 s R |

31 HT, 2018 ! UG & MG 7g ATTLIh UeHHT Tfafset Hi |

On 15t April, 2011, K Ltd. issued ¥ 9,00,000, 9% Debentures of ¥ 100
each at a discount of 6% redeemable at a premium of 10%. These

debentures were redeemable on 315t March, 2018. The company created
the necessary minimum reserve for redemption of debentures and
purchased debenture redemption investments as per the requirements of
the Companies Act, 2013.

Pass necessary journal entries for redemption of debentures on
315t March, 2018.

freqHT Qe STIUHT T B H GrEier off a°1 3 : 5 % U H ATH-IH Sied
off | 3| @9 % i 9T & foIT FUR 1 Th T WIEER SR | T A
TS oT9TE 3 : 3 : 2 B | HUR A GSit o fTT T 2,00,000 T TAT(T 6
39 9T % U smevess eanfa Shiftew Tfsr @mn | w6 i a1 et
T 1,20,000 feram |

ST el o foIT w1 Y gEashl B TTavaeh UsHmeen gfafseat Hifv |

Nirupama and Anupama were partners in a firm sharing profits and

losses in the ratio of 3 : 5. They admitted Kumar as a new partner for

L share in the profits. The new profit sharing ratio will be 3 : 3 : 2.

Kumar brought ¥ 2,00,000 as his capital and the necessary amount of

goodwill premium for his share of goodwill. The goodwill of the firm was
valued at ¥ 1,20,000.

Pass necessary journal entries for the above transactions in the books of
the firm.



12. 9aH, T 991 &7 U BH § ARIgR 9 991 2: 21 196 UG H 1Y Sied 9 |
31 W€, 2018 I ed H FJ & T | 39 Ty I wH w1 el foeo

frerferiRaa gpe @ o1 -

31.3.2018 ! UaA, W= ae fg=r =t fearfa feemor

TR 80,000 | S & Uhg 48,000
= G 45,000 | TSR 52,000
HTIR afagfd 20,000 | H=R 2,40,000
gt ERE| 3,50,000
e 2,00,000 ATH-IH @ 55,000
WA 3,00,000
g 1,00,000 6,00,000
7,45,000 7,45,000

9e %1 G T HA=X Sl T 2,10,000 T e AT T qA1 FIF HI T 30,000
¥ HA T T | FR &fagld o fIw T 12,000 1 T a1 FRR TR

R

STYe THCAT o ToTT HH <hl JEaehl H SATATIeh U= Tla sl it |
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Pawan, Raman and Hina were partners in a firm sharing profits in the
ratio of 2 : 2 : 1. Pawan died on 315t March, 2018. The Balance Sheet of

the firm on that date was as under :

Balance Sheet of Pawan, Raman and Hina as at 31.3.2018

Liabilities Amount | ssets Amount
Creditors 80,000 | Cash at Bank 48,000
General Reserve 45,000 | Debtors 52,000
Workmen’s 20,000 | Furniture 2,40,000
Compensation Fund
Capital : Plant 3,50,000
P 2,00,000
awan Profit and Loss A/c 55,000
Raman 3,00,000
Hina 1,00,000 | 6,00,000
7,45,000 7,45,000

On Pawan’s death, furniture was to be brought down to ¥ 2,10,000 and
plant was to be reduced by ¥ 30,000. A claim of ¥ 12,000 was accepted

for workmen’s compensation.

Pass necessary journal entries for the above transactions in the books of

the firm.

67/5/2 8
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13. 31.3.2018 &l @A a4 & U T T Fd o TG oAl I AW
fafafad gr 2

faaw i
IR A — Uhs 70,000
EE3 3,00,000
ged ?‘ET :
2016 — 2017 40,000
2017 — 2018 3,75,000
2018 — 2019 20,000
fw & forw gm 1,64,000
EENRT 14,000
CICICER 2 NI 45,000
HHGH qT A 55,000
NIEZTMETIE) 11,000
T 918 Se fafies % 9% woEt # fewm 2,40,000
7o ufeRd 5,000
T 12,500
s fiftem 6,760
IR = 800
e == 9,570
BRI 38,000
I FHER-GE1 T a6 300
d% I | 1,740
g g 43,000
ITYFd WY H 31.3.2018 I FHI I % 0T T[S B FAS h UId T
PIAH QAT IR HIT | 6
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Following is the summary of cash transactions of Good Health Club for
the year ending 31.3.2018 :

Particulars Am;unt
Opening Balance — Cash 70,000
Bank 3,00,000
Subscriptions Received :
2016 — 2017 40,000
2017 - 2018 3,75,000
2018 — 2019 20,000
Donations for Gym 1,64,000
Admission Fees 14,000
Life Membership Fee 45,000
Wages and Salaries 55,000
Locker Rent 11,000
Invested in 9% debentures of XYZ Ltd. 2,40,000
Health Journals 5,000
Stationery 12,500
Insurance Premium 6,760
Courier Charges 800
Municipal Taxes 9,570
Machinery Purchased 38,000
Sale of Old Newspapers 300
Interest on Bank Balance 1,740
Cash in Hand 43,000

From the above summary prepare a Receipts and Payments Account of
Good Health Club for the year ending 31.3.2018.

67/5/2 10



14. @, @ Q1 7 @GR & | ITh TR ¢RET U T 60,000, T 40,000 AT
T 20,000 off | ITHT Y FIUTH STHUTT 2:2: 1 1 | HIEEK ol & 3R
3% 5% i a9 S W AN ¢F o7 | §6eh AfiNad @ i T 1,500 Tid WIg o

T A | It WSS T S I¥ET W o Wl A oF & A T I A9 H
5% HHITH T A1 | T4 o 90 ®H &1 Yg @H T 80,000 o1 &Rl Iuged

gurEeH foRT foMT ARl o Yot 31Ut § &ie feam M | o719 1 &l T

a3ITd U HATawde THRIeH Sfafee hif |
AAAT

& YT T Tk BH o e’ 9 | 31 AN, 2018 i 37814 TH i Tsh 4AT HIEER
s 1 (i o= | 31 9/, 2018 &1 & 9un W o feufa foawor f=fafad

YRR | o
31.3.2018 <R & qoT U 1 ferfa feaamon
Sorant Tfw et Tf
3 3
TR 18,000 | S & Uehg 1,000
= E= 2,000 | TSR 40,000
g Wik 6,000
i 30,000 et 3,000
© 15,000 45,000 | e gt 15,000
65,000 65,000

d TH ! fEiad odi W 31 "IEieR 9 % foe dg89d Ju

(i) W T 20,000 9, EE ¥ T 4,500 HI IGHT ©AMA AfEHEE AW
SR, S99 sgeE™ | € et SR |

(i)  TH ! ®H o AT & i T 9T BT |

(iii) eI % 5% 1 G o & fIw Teh Jrae™ &= |

(iv) fteR Wl 5% 9 Hoag™ fohaT |
(v) ¥ 1 T 5,000 W THeATR fomal |
AR @A, TTSIEN o Yoil @Td qfl 5 BH 1 IR feufa faamo dam

HIfT |
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A, B and C were partners. Their fixed capitals were ¥ 60,000, ¥ 40,000
and ¥ 20,000 respectively. Their profit sharing ratio was 2 : 2 : 1.
According to the partnership deed, they were entitled to interest on
capital @ 5% p.a. In addition, B was also entitled to draw a salary of
T 1,500 per month. C was entitled to a commission of 5% on the profits
after charging the interest on capital, but before charging the salary
payable to B. The net profits for the year, ¥ 80,000, were distributed in
the ratio of their capitals without providing for any of the above
adjustments. Showing your workings clearly, pass the necessary
adjustment entry.

OR
T and N were partners in a firm. On 315t March, 2018 they decided to
admit M as a new partner. On 315' March, 2018 the Balance Sheet of T
and N stood as follows :

Balance Sheet of T and N as at 31.3.2018

Liabilities Am;unt Assets Am;unt
Creditors 18,000 | Cash at Bank 1,000
General Reserve 2,000 | Debtors 40,000
Capital : Stock 6,000
T 30,000 Furniture 3,000
N 15,000 45,000 | Freehold Property 15,000
65,000 65,000

They agreed to admit M as a new partner subject to the following terms
and conditions :

1) M will bring in ¥ 20,000 of which ¥ 4,500 will be treated as his
share of goodwill premium to be retained in the business.

(i1)) M will be entitled to ith share of the profits in the firm.

(iii) A provision for doubtful debts was to be created at 5% on the
debtors.

(iv)  Furniture was to be depreciated by 5%.
(v) Stock was to be revalued at ¥ 5,000.

Prepare Revaluation Account, Partners’ Capital Accounts and Opening
Balance Sheet of the new firm.



15.

%, G AT T Th BH o TGN I qAT 3 : 3 : 4 % AT H TIY-FIH Fied o |
1.4.2017 %1 39eh YSft qAT =] @Al & ¥ FHHTARGd ThR 9

Ioft @ =] @t
3 T
% 4,00,000 ST 20,000 T4
tC| 5,00,000 ST 10,000 =T
T 6,00,000 ST 15,000 T
3k el Horg | fHefeiiad w1 gmaeE o

() IS W 9% 9id a9 =T

(ii) @ I T 50,000 IATEH oa-

1.1.2016 ! T 5 BH &l T 2,00,000 T Th U 6% dT¥eh &< & T feam |
a9 T 3ITeh AR : & T 40,000, @ T 75,000 9T T T 55,000 & | 1.1.2018
HIH F T 2,00,000 I Al IS w1 A9 RAT | T H RO W S A G
& % 1 Yg A T 4,00,000 AT |

31.3.2018 ! HHT o8 & € ®d o1 ew-grA faftieq @mar don aeerl &
T WA IR I |

A, B and C were partners in a firm sharing profits and losses in the ratio

of 3 : 3 : 4. On 1.4.2017 the balances in their Capital and Current
Accounts were as follows :

Capital Accounts | Current Accounts
3T 3
A 4,00,000 Cr. 20,000 Dr.
B 5,00,000 Cr. 10,000 Dr.
C 6,00,000 Cr. 15,000 Dr.

Their partnership deed provided for the following :
1) Interest on Capital @ 9% p.a.
(ii)  Salary to A @ T 50,000 per quarter

On 1.1.2016 C had given a loan of ¥ 2,00,000 to the firm at 6% per
annum interest. During the year their drawings were A ¥ 40,000,
B ¥ 75,000 and C ¥ 55,000. On 1.1.2018, A introduced further capital
T 2,00,000. The net profit of the firm before allowing interest on C’s loan
was ¥ 4,00,000.

Prepare Profit and Loss Appropriation Account of the firm for the year

ending 31.3.2018 and the Current Accounts of the partners.

13 P.T.O.
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16. ISl SIFTA AT ST9 Teh ®H § TTER & 997 3 : 1 : 1% U H oY sied
Y | 31 W, 2017 Sl IBMH U HBH 1 foered w3 o1 Foly o= | 39 fafa
%I 3TeR! el faawor f Jhm o

31.3.2017 Rl HIZhoT, JAFAF qAT A o1 frarfa feamon

TG 11,500 | s 6,000
Eu| 3,500 | TTER 48,400
h ger ;. |fey o %

' fau gea@ 2,400 | 46,000
Hghd 50,000 ST Wi 16,000
I 25,000 i 2,000
S 14,000 89,000 | fafay Tt 34,000

1,04,000 1,04,000
I8 weHfd g3 T :

(i)  HEHhd T 2,600 H HARL o @M 991 T 40,000 % TER, T 34,400 H oM
LT T 10,000 % THERI T YTAH I8 $HT TR W HAT |

(i) S TR e T @l T 14,000 H o1 3 fafay srataat =
T 28,800 H T (S I&deh Hed & 10% ¥ ) |

(iii) 9 39 31 Tafay rafaei sl g5 qod o 90% T T qAT I8 R0

o

T YT HH T IAEIRIed o |

(iv) ¥ GAGRI hl Teh T ThA i dTell UsiE! ohl TR T o 50% T
s T T | foeed 2 T 600 9, SRt yrae S F R |

Y WIaT, S @IaT a1 TSGR o Yot Wrd oI Hif |

YT
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T, T qAT ot T BH o TEER & a1 SHA: % s d % % I § ATH-FIH
Sied & | 319, 2017 sl ®H o1 fEufd faewor Fefaiad yor o -
31.3.2017 <R U, TH AT =t <1 fearfa feawon
gt Higles uiEr 40,000
w 30,000 ENIE 30,000
T 30,000 BterR 12,000
@t 28,000 88,000 | T 22,000
2 foat 12,000 | fafaw &R 20,000
: ge7 . gud ROl
AT = 12,000 | o g™ 1,000 19,000
fafay der 18,000 | Uhg 7,000
1,30,000 1,30,000
Iygera fafer o6t &t 3 Sy @ raehr Tgur fohan qen agier fefeifad @ forw
Hadd EQ :
(i)  HIEce IREX T ¥ I o HHI: 20% T 15% G SR |
(i) T G BrTeR X SRR 10% AT 7% 1 HeIsTd Il STRAT |
(i) g RN R Y@EGH Hl T 1,500 TSR JRAT |
(iv) &t o TSI UEU i T HBH hl TR I Jedehd T 21,000 Feram T |
(v) W ol =T¢] W@ a1l AR A o 3 3TFhIS UYT i oh qv=rd YSil ohl
T T Y a9 oTuTa W auRita e W e foRn | 3es et
G H oTive™ rgan wl, IR HIE 7, HI b =] @Al b AT F
gurtora feram SR |
gFifed ®H 1 g @TdT, HEieRi o st @rd qon fedfd faawor duw
HIT |
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Michael, Jackson and John were partners in a firm sharing profits in the
ratio of 3 : 1: 1. On 315t March, 2017, they decided to dissolve their firm.

On that date their Balance Sheet was as follows :

Balance Sheet of Michael, Jackson and John as at 31.3.2017

Liabilities Am;“nt Assets Am;“nt
Creditors 11,500 | Bank 6,000

Loan 3,500 | Debtors 48,400

. Less : Provision for

Capltal : Doubtful Debts 2,400 46,000
Michael 50,000 Stock in Trade 16,000
Jackson 25,000 Furniture 2,000
John 14,000 | g9 00 | Sundry Assets 34,000
1,04,000 1,04,000

It was agreed that :

(i)

(i1)

(iii)

(iv)

Michael was to take over Furniture at ¥ 2,600 and Debtors
amounting to ¥ 40,000 at ¥ 34,400 and the Creditors of ¥ 10,000
were to be paid by him at this figure.

Jackson was to take over all the stock in trade at ¥ 14,000 and
some of the other Sundry Assets at ¥ 28,800 (being 10% less than
book value).

John was to take over the remaining Sundry Assets at 90% of the
book value and assumed the responsibility for the discharge of the
loan.

The remaining debtors were sold to a debt collecting agency for
50% of the book value. The expenses of dissolution ¥ 600 were
paid by John.

Prepare Realisation Account, Bank Account and Partners’ Capital
Accounts.

OR
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N, S and B were partners in a firm sharing profits and losses in
proportion of %, é and % respectively. The Balance Sheet of the firm as
at 315t March, 2017 was as follows :

Balance Sheet of N, S and B as at 31.3.2017

Liabilities AmOunt | A ssets Amount

Capital : Freehold Premises 40,000

N 30,000 Machinery 30,000

S 30,000 Furniture 12,000

B 28,000 | gg 000 | Stock 22,000
Bills Payable 12,000 | Sundry Debtors 20,000

Less : Provision for

General Reserve 12,000 | Bad Debts 1,000 19,000

Sundry Creditors 18,000 | Cash 7,000

1,30,000 1,30,000

B retired from the business on the above date and the partners agreed to
the following :

1) Freehold premises and stock were to be appreciated by 20% and
15% respectively.

(ii))  Machinery and furniture were to be depreciated by 10% and 7%
respectively.

(iii) Provision for bad debts was to be increased by ¥ 1,500.
(iv)  On B’s retirement goodwill of the firm was valued at ¥ 21,000.

(v)  The continuing partners decided to adjust their capitals in their
new profit-sharing ratio after retirement of B. Surplus/deficit, if
any, in their capital accounts was to be adjusted through their
current accounts.

Prepare Realisation Account, Partners’ Capital Accounts and the Balance

Sheet of the reconstituted firm.
17 P.T.O.
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Taa fdAfies 9 T 10 &% & 2,00,000 9T 3T I 25% Hfem @, S
Aed & @Y <F o, it @ @ Ful o | 4,50,000 3w % fow
e 9o Y | 1,00,000 30 % TQ 3ATeEAl I T T fean T don stag
TR A8 L TTE | Y ATAGehT bl AT SR T A& fohan 71 | ufd
379 TR BT A FfTRad JehR § ST o

A W . T 49l 1w (Hifw afza)

JATE T . T 350 Ui A

oW qYT AfqH AT W I
JATdE W ged Afaferd TR 1 qHRISE SATeed W e T § o fofam |
e W ¥ N1 ¥ Afaierd e ufyn, afe g oft, =1 aue o e mm |
g, fSEa 7,000 3N & fofw smeg fopam o, 3 3@ed UM &1 YA &
foReT | 3TTEeH o QL U9, 3ok 3TN o1 &0 L Tofall TR | 38k qeeiTq wed
qen srfeam e |1l T
Fed, TS99 10,500 73 o U 31ded fomam om, 34 9| qeon Af<m I=mT
YTaH Tl fohaT | 3ok 3791 1 ot gor o form TR | gXor fepw T weft sttt o
T 11-50 Ufd 3791 U1 Y Hiar s A Fifia =6t fog o |
Toa fafiee & q&ael § ITdea oHcHl o fole Taweh UsHm=T wiafseat
i |

AIAT

e e 3 T 100 &% % 25,000 THAT 390 Sl T R Fifed & &
foru e stmf=ra fohu | wfa 319 Uit w1 Yram Fefafad ger @ < o -

AHed | . T 20 yfd 1w
e T . F 30 9fd 379
T AT T . T 25 gfd 379

gEdl qun AfH e W T 25 Ui AW
24,000 M % TIQ oG T §T A1 i STeGHI hl AT I AW L
fen man | |t =T Wit A € qen fefafed TR € I g8

18,000 M T .U

2,000 33T T . T 759fd 3™
2,500 33T T . T 50 9fd 31
1,500 3790 W . T 20 9fd 31

HEAT A I I A 0 K o B w75 9id 7 | w9 g | Fo
fopT TTT 37T T T 95 Ui 3T qUT Wew TG R feam e |
ITFd A o ToIu gt Y qeaent ® sTragTes UsHmH=n gfafseat Hifs |
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Royal Ltd. invited applications for issuing 2,00,000 equity shares of ¥ 10
each at a premium of 25% payable with application. Applications for
4,50,000 shares were received. Applications for 1,00,000 shares were
rejected and money refunded. Pro-rata allotment was made to the
remaining applicants. The amount per share was payable as follows :

On Application : ¥ 4 per share including premium

On Allotment : ¥ 3-50 per share

Balance on 15t and Final Call.

Excess application money received with applications was adjusted with
sums due on allotment.

Application money in excess of sums due on allotment, if any, was
refunded. Raghu, who had applied for 7,000 shares failed to pay
allotment money. His shares were forfeited immediately after allotment.
Afterwards the first and final call was made.

Nandan, who had applied for 10,500 shares, failed to pay the first and
final call. His shares were also forfeited. All the forfeited shares were
reissued at ¥ 11-50 fully paid up, to Meeta.

Pass necessary journal entries for the above transactions in the books of
Royal Ltd.

OR

Saral Ltd. invited applications for issuing 25,000 equity shares of ¥ 100
each at par. The amount per share was payable as follows :

On Application : T 20 per share
On Allotment : T 30 per share
On First Call : T 25 per share

On Second and Final Call : < 25 per share

Applications were received for 24,000 shares and the shares were allotted
to all the applicants. All calls were made and were received as follows :

On 18,000 shares : Full amount

On 2,000 shares : % 75 per share
On 2,500 shares : T 50 per share
On 1,500 shares : T 20 per share

The company forfeited those shares on which less than ¥ 75 per share
were received. The forfeited shares were reissued at ¥ 95 per share fully
paid up.

Pass necessary journal entries for the above transactions in the books of
the company.
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PART B
Option 1
(Analysis of Financial Statements)

18. U fofia srea) <Al foregl @1 Taawr wifafafern & e i |

Give any two examples of investing activities of a finance company.

19. TUehg yaTg faawor’ =1 & 219 g ?
What is meant by ‘Cash Flow Statement’ ?

20. ¥ fafiee & geasi & wea ffafad AW @ w@ifics a6 ToE
HifT

T
TATS qT TR 10,00,000
| qon Haq 6,00,000
AT HR 8,00,000
iR 1,50,000
ih 4,50,000
SER 90,000
S U Uehg 3,40,000
A AT 10,00,000
ELSEREl 6,20,000

AT
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I HMd §C foh Th T 1 RO-EHAT I 0-50 @, s foh FefaRaad

oo # o8 19T e, | 31E] $8H hig IHEdd T8l g :

() o HEH % 3UR W T uiErafeE w1

(i) T 379 1 TG

(iii) #G o1 33 foRam qem STqfdehal sl THAT M 1 fHIFH e e

Tera

(Gv) 8% <raiafy kot yTed femam

From the following balances obtained from the books of Heera Ltd.

calculate proprietary ratio :

<
Plant and Machinery 10,00,000
Land and Building 6,00,000
Motor Car 8,00,000
Furniture 1,50,000
Stock 4,50,000
Debtors 90,000
Cash at Bank 3,40,000
Non-Current Liabilities 10,00,000
Current Liabilities 6,20,000
OR
67/5/2 21

P.T.O.



21.

Assuming that the Debt to Equity ratio of a company is 0-50, state
whether this ratio would increase, decrease or remain unchanged in the
following cases :

(1) Purchase of fixed assets on a credit of 3 months
(11) Issue of new shares for cash

(i1i) Purchased machinery and paid to the vendors by issue of equity
shares

(iv)  Obtained 8% long-term loan

Hro rfufm, 2013 6 G ML 99 1% ATER weot & feafa faawor 4§
frafefaa uei =t foh gea sideri @ Iusfivent o er=avia guitan Smerm 2
(i) s Affaemy
(i) afeudt T==
(i) oSl weE g=
(iv) e 3R
(v) T
(vi) onY-gr foremor &1 am 9
(vii) RIS SNE =
(viii) o TraeH
e
(i) fofa yeiwes, e (ii) 3= yeed o o focfia faveivor & wew i 4989 4
HHATRT |

Under which major heads and sub-heads will the following items be

presented in the Balance Sheet of the company as per Schedule III, Part I
of the Companies Act, 2013 ?

1) Bank Overdraft

(i1)  Subsidy Reserve

(iii) Capital Redemption Reserve

(iv)  Mining Rights

(v) Patents

(vi)  Debit balance in the Statement of Profit and Loss
(vii) Debenture Redemption Reserve

(viii) Provision for Taxation

OR

Explain briefly the importance of financial analysis for (i) Financial
Manager, and (ii) Top Management.
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frfafaa g @ sreien fafiees &1 W R 1 AR faawr Tar

hITT : 4
2016 — 17 2017 — 18
Taawor i i
< <
T B ST 20,00,000 10,00,000
AT AN 2,00,000 50,000
. YT ¥ TR 1 | =Tl | 3T 61
IUYh qSIt hl AT
i 60% 50%
HHAR Al = 1,40,000 80,000
) 30% 30%
From the following information, prepare a Common Size Statement of
Profit and Loss of Ashoka Ltd :
2016 — 17 2017 - 18
Particulars Amount Amount
< <
Revenue from operations 20,00,000 10,00,000
Other income 2,00,000 50,000
Cost of materials consumed 60% of reve.nue 50% of reve-nue
from operations from operations
Employee benefit expenses 1,40,000 80,000
Tax rate 30% 30%
23 P.T.O.
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23. 319, 2018 %l THE fafies & Ffafaa feafa faewor & Uhe varg oo daw

HIT

T feafes
31.3.2018 =t feorfa feramor
e | 31.8.2018 | 31.3.2017
forazom 9. T T
I - ST Ta 3Ty
1. | sfvremdt fAferat
(1) ofer gt 6,30,000 |  5,60,000
(9) T== ug e 1 3,80,000 |  1,82,000
2 %nqﬁa?rri :
(37) =AUR 2,08,000 |  1,82,000
(¥) 3= =T <FaTg 14,000 28,000
E3 12,32,000 |  9,52,000
II - gttt
1. | 3TreT gt
(31) woTe ufEratEt
(i) 7o arEatEt 2 3,92,000 |  2,80,000
2. mq\trﬁumﬁﬁ :
(37) mrergE 1,26,000 |  1,82,000
(9) =aUR T 6,30,000 |  4,20,000
(|) Uhs T Uhg o 84,000 70,000
Ky 12,32,000 | 9,52,000
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@Al o HeH
e
Sy N— 31.3.2018 31.3.2017
g. T T
1. | 9 UG AT ¢
AY-BI forawor & 9w 2,00,000 1,00,000
T J= 1,80,000 82,000
3,80,000 1,82,000
2. | g gfEeafat
T8 T 4,50,000 3,60,000
T (Hfd) qeagE (58,000) (80,000)
3,92,000 2,80,000
STfarE T :

T 42,000 H TH GUA WA w1 W W wwb@ geus™ T 28,000 o,

T 56,000 H S=T T |

From the following Balance Sheet of Axe Ltd. as at 315t March, 2018,

prepare a Cash Flow Statement :

Axe Ltd.
Balance Sheet as at 31.3.2018
Note | 31.3.2018 31.3.2017
Particulars No. F F
I - Equity and Liabilities :
1. | Shareholder’s Funds :
(a) Share Capital 6,30,000 5,60,000
(b) Reserves and Surplus 1 3,80,000 1,82,000
2. | Current Liabilities :
(a) Trade Payables 2,08,000 1,82,000
(b) Other Current Liabilities 14,000 28,000
Total 12,32,000 9,52,000
67/5/2 P.T.O.



Note | 31.3.2018 31.3.2017
Particulars No. F F
II - Assets :
Non-Current Assets :
(a) Fixed Assets :
(i) Tangible Assets 2 3,92,000 2,80,000
Current Assets :
(a) Inventories 1,26,000 1,82,000
(b) Trade Receivables 6,30,000 4,20,000
(c) Cash and Cash Equivalents 84,000 70,000
Total 12,32,000 9,52,000
Notes to Accounts :
Note . 31.3.2018 | 31.3.2017
Particulars
No. 4 <
1. Reserves and Surplus :
Balance in the Statement of
Profit and Loss 2,00,000 | 1,00,000
General Reserve 1.80.000 89.000
3,80,000 | 1,82,000
2. Tangible Assets :
Machinery Cost 4,50,000 | 3,60,000
Accumulated Depreciation (58,000) | (80,000)
3,92,000 | 2,80,000

Additional Information :

An old machinery costing ¥ 42,000, on which accumulated depreciation
was T 28,000 was sold for ¥ 56,000.

67/5/2 26
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19.

20.

21.

22,

RCLCEC)
farerea 2

(IR CIERSICICT)
PART B

Option 2
(Computerised Accounting)

HAYT T GE19E TS 1 Tafaiy IgTIshA 91 § ?

What is the activity sequence of the basic information processing mode ?

‘321 SefteRtor ST @ 31ef R 2

What is meant by ‘Data Validation’ ?

TT@Thd ATFoRR T geedl fomiarsti &1 gH1 oI 79w 7 ? UHt fohegl @
fafert =t awemsT St STER-gRea YoM wEd § |

Why is it necessary to have safety features in accounting software ?
Explain any two tools that provide debtors security.

‘e’ qen i Higd i THSEY |
Jroqan
It o Seh TETYT foator dUR S o =AU Rl 3gW@ I |

Explain ‘Sequential’ and ‘Mnemonic’ codes.
OR

State the steps to construct Bank Reconciliation Statement in Tally.

ITANThAT GRT Teh T3 fohU 7T T S2T&d Wl AT Hod ¢ h IR HevTfad
AT <h! HHEATST |

A=
“TaTUTeR’ (ATSTR) 1 R AY 7 ? fafYe YR o IHIUERT Sl TuEET |

Explain four advantages expected by the user for paying a high price for
a chosen server database.

OR
What is meant by a ‘voucher’ ? Explain different types of vouchers.

“gerd ®IEfET w1 @ 31} 2 39k ATl Sl HHEATST |

What is meant by ‘Conditional Formatting’ ? Explain its benefits.
27



